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General Instructions :

(i} The guestion paper comprises of two Sections, A and B. You are to attempt both the
sechions.
(ii} All questions are compulsory.

{111}  There 15 no overall choice. However, internal choice has been provided i all the five
questicns of five marks category. Only one ophion in such gquestions is to be attempted.

{iv] Al questions of Section-A and all questions of Section-B are to be attempted separately.

(3] Question numbers 1 to 3 m Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 4 to 7 m Sections-A are two marks questions, These are to be answered
m about 30 words eacly

(vit)  Question nunbers 8 to 19 i Section-A are three marks questions. These are to be answered
i about 50 words eacl.

{viii)  Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
i about 70 words eacly.

(ix)  Cuestion numbers 25 to 42 in Section-B are multiple choice gquestions based on practical
skills. Each gquestion 1= a one mark question. You are to select one most appropriate

response out of the tour provided to you.

SECTION - A

Mention the angle between a current carrving conductor and magnetic field tor C ’)
which the force experienced by this cwrrent carrving conductor placed in
magnetic tield is largest ?

Name the sensorv receptors found in the nose and on the tongue ? (1)
Detine a solar panel. )
Write the balanced chemical equation tor the tollowing reaction and identity the
tvpe of reaction and detine it.

‘Tron [T oxide reacts with Aluminium and gives molten iron and aluminium

h/ oxide’. (a)
Name the tollowing :

4

A hustrous colowred non metal
W A metal which can melt while kept on palm, (a)
() A metal, which is a poor conductor of heat.

Z}? A metal which 1s preserved in kerosene

An electric heater rated 800 W operates 6 h/day. Find the cost of energy to (2]
perate it for 30 days at ¥ 3.00 per unit.
Draw magnetic field lines produced around a cuwrrent carrving straight
conductor passing through cardboard. How will the strength of the magnetic
tield change, when the point where magnetic tield is to be determined, is moved
away from the straight wire carrving constant ciurent ? Justify your answer. ()



g A reddish brown coloured metal, used i electrical wires, when powdered and

heated strongly in an open china dish, its colour tums black. When hvdrogen

gas is passed over this black substance, it regans its original colour. Based on

the above intormation answer the tollowing questions.

u’/ Name the metal and the black coloured substance tormed. (3
U‘/ Write balanced chemical equations tor both the reactions. )

151 » An) Give an example tor a combination reaction which is exothermic.
(l‘/ Identifv the oxidising agent, reducing agent in the following reaction.

H;S5+Cl; » 2HCI+5

(c/- Name the phenomenon due to which the taste and smell of oily tood
changes when kept for a long tume in open. Suggest one method to C-yj)
prevent ik

10. {)4/ Write the name given to bases that are highlv soluble in water ? Give an
/ example.
(1) How is tooth decay related to pH ? How can it be prevented ?

{c Why does bee sting cause pain and irritation 7 Rubbing of baking soda C3)
on the sting area gives reliet. How ?

1, @ Why is calcium starts floating when added to water ?
() Most of the metals do not give hvdrogen while reacting w ith natric acid.
Why ?
() Write equation tor the reaction of won with steam. Name the compoumd (3)

of won obtamed.

Lﬂr/ Nichrome wire ot length I and radius ‘1” has resistance of 10 0. How

would the resistance of the wire change when :

tﬂr‘ Omnly length of the wire is doubled ?

(iﬂ/ Only diameter of the wire 1s doubled ? Justity vour answer. (3B)
{1}\/‘ W element of electrical heating devices are made up ot allovs ?

1'5’:.T111'ee yesistore of 5 £ 10 O and 15 O are connected in series and the
combination is connected to batterv of 30V. Ammeter and voltmeter arve
connected in the circuit. Draw a circuit diagram to conmect all the devices in
proper correct order. What is the current tlowing and potential difference (3)
across 10 Q resistance ?

( What is meant by overloading ot an electrical circuut ? Explain two possible
causes due to which overloading mav occur in household circuit 2 Explain one
precaution that should be taken to avoid the overloading of domestic electric C 3)

circul
| 5. /F Explain with the help ot diagram, how amwoeba takes its mutrition.
Assume that vou are a veterinary surgeon and vou had removed a good
length ot the small intestine of a bear that was suttering trom a intestinal
tumor. Nowy, would vou suggest a plant based or an meat based diet for (3)
the bear atter its recovery ! Give reason tor vour answet.

| & (a) ‘Nﬁne the part ot brain which controls

{1 voluntary action,
1) involuntary action.
(b} What is the signiticance of the peripheral nervous system ? Name the £5)

coniporents of this nervous system and distinguish between the origm
of the two.




| 2. Describe an activity to illustrate the phenomenon of phototropism and explain
why does this occur,

IR -

Draw schematic labeled diagram ot box tvpe solar cooker.
Name two components ot solar cooker which are responsible to increase the
temperature inside the solar cooker, Explain their tunction.

19 Explain g@thermal energy. How can it be harnessed to produce electrical
energy ?

3.

{a)
{b)
()

{fﬂ

(bL

{a)
(1)

(<)

In the tormation of compound between two atomis A and B, A loses two
electrons and B gains one electron.

(1) What is the nature of bond between A and B 7

T Suggest the formula of the compound tormed between A and B.
Om similar lines explain the formation of Mg Cl; molecule.

Conunon salt conducts electricity ondy in the molten state. Why ?

Why is melting point of NaCl high ?

OR

Carbon cannot be used as reducing agent to obtain Mg from MgO.
Why ?

How is sodium obtained trom molten sodimm chloride ? Give equation
ot the reactions.

How is copper obtained trom its sulphide ore ? Give equations of the
reactions.

Identity the acid and the base whose combination torms the conunon salt
that vou use in vour food. Write its tormula and chemical name of this
salt. Name the source from where it is obtamed.

What is rock salt > Mention its colour and the reason due to which it has
this colour.

What happens when electricitv 15 passed through brine 7 Write the
chemical equation for it.

OR

Write the chemical name and chemical tormula of washing soda.

How is it obtained from sodium chloride ? Give equabions ot the
reachons.

Why it is called a basic salt 7 Give its anv one use.

(3)

£5)

(3)

{5)
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(b}

()

Calculate the resistance of the wire using the graph.
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Current (A)

0 o2 3
Potential difference (V)
How many 176 1) resistors in parallel are required to carrv 54 ona 220V
line ?
Detine electric power. Denve relation Dbetween power, potential
ditterence s resistance,

OR

Three resistors R, Ry and Ry are commected m parallel and the

combination is connected to batterv, anuneter, volimeter and kev. Draw
suitable circuit diagram. Obtain an expression for the ettective
resistance of the combination of resistors in parallel,

Why are electric bulbs Hlled with chemicallv inactive nitrogen or argon ?
What is meant by the statement that the rating of a tuse in a circuit is
SA?

Detime electromagnetic mduchon ?
Two coils P and S are wound over the same iron core. Coil P 1s
comnected to Dbatterv and kev and the voil S is connected to
galvanometer. Draw a sunitable diagram of this arrangement and write
vour observations when @
(1} Current in the coal I 1s started by closing the kev.
(1) Current continues to tlow in coil P.
fui)  Current mcoil P is stopped by removing the ke,

Explam the reason tor such ebservations.

OR

Draw magnetic hield lines around bar magnet.

Explain anv two properties of magnetic tield lines.

A cwrrent through a horizontal power line Hows in east to west divection.
What is the direction ot magnetic tield at a point directly below it ? State
the rule whiclh 1s used to tind the direction of magnetic tield i thas case.

€5)

(5)



o Draw the diagram of sectional view of human heart and on it name and label
A the tollowing parts :

(a) The chamber of the heart that pumps out de-oxvgenated blood.
(1) The Dlood vessel that carries awav oxveenated blood from the heart.
{c) The blood vessel that receives de-oxvgenated blood from the lower part

ot our body,

OR

(a) Draw the human respiratorv svstem and label the rollowing - lung,
bronchi, alveolar.
(b) During breathing cvele what is the advantage of residual volume of air

in lungs ? Explain.

SECTION - B

When terrous sulphate crvstals are heated, the colour of the residue formed is :
{a) red (b) brown {) orange (d) green

/"?
:lff? A small amount of quick lime is taken in a beaker. Water is added slowly to the
/ beaker. Whach ot the tollowing observations were noted ?

(a) Hissing sound and the solution becomes hot

{b No characteristic sound and solubion turns cold

(c) Hissing sound and the solution becomes cold.

{d) No characteristic sound and the solution becomes hot.

AF  The colour ot pH strip turned red when it was dipped in 4 sample. The sample

/g’ could be :

(a) dilute NaOH solution (b) tap water
() dilute HCT solution () dilute NaHCO;3 solution

9% The correct method of finding pH ot solution is to :

(a) heat the solution in the test hube and expose the pH paper to the vapours
tormed. F

(b) pour solution trom the test tube on pH paper

(<) drop the pH paper into the solution

() add a drop of selution on the pH paper using a dropper.

29 . 10 mL of HC(1 and 10 mL of NaOH solutions are taken in two separate beakers
labelled 1 and II respectivelv. On adding Zinc granules to both, it 1s observed
that at room temperature

(a) Gas is evolved vigorously in both
(L) Gas is evolved vigorously in beaker [ and not in the beaker II
() Gas is evolved vigorously in beaker II but not m the beaker 1

() No gas is evolved in either of the two beakers

(5)
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new iron nail is placed m a beaker contaming aqueous copper sulphate
= solution. When the nail is taken out atter 15 minutes, its surtace is coated with
(a) reddish deposit {D) greenish deposit
(c) black deposit () white deposit

¥ A piece ot granulated Zn was dropped mto copper sulphate solution. After
/____,-r’qonw time the colour ot solution changed trom
{a) light green to blue (L)

{c) hght green to colourless (cd)

blue to colourless
blue to green

5/  [henumber of division in ammeter of range 24 is 10 and voltmeter of range
5\ 1s 20. When the switch ot the circuit given below is closed, amuneter reading
is at 8% division and voltmeter reading is at 8 divisions. The value of resistance
ot resistor 1s -

i
W)
~ N —
R
| ooy
| \
| {a) 1.230) {b) 20 {c) 0750 {d) 150

constant while doing experiment 1s fare :
current
potential ditterence, current, temperature

i %32 . In Ohm's law experiment, the phvsical quantity /quantities which is/are to kept
|
I

{a) potential ditterence  (b)
{c) temperature (d)

2y, Ohm's law experiment is pertormed separatelv with individual resistors R, Ry
[R;>R;] and series combination of Ry, Ry. Graph is plotted between potential

ditterence (V) and current (I) as shown in tigure tor each case :
Identity which one is tor Ry, Ry and combination of resistors ?

e B,

1)

(L

In the graph A, b and C respectively represents

(b)
(<)
(d)

r Y

A
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e

»
R;. Rs and series combination

series combmation, Rs, By
R,, R| and series combination

series combination, By, RBs



, _ ¢
Three students drew following circuit diagrams to tind resistance ot parallel )

combination of bwo resistors.
Correct circuit diagram/ diagrams are -

R R
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%6.The circuit diagram shown below is used to find the etfective resistance of two ¥

resistors in series. Which circuit diagram represents corvectly ?
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%% Other than ight, which of the tollowing are also essential tor photosvnthesis ?

{a) carbon di-oxide, water, minerals, chlorophvll
(1) carbon di-oxide, water, vitamins, chlorophvll
(c) carbon, water, minerals, chlorophyll

(] carbon di-oxide, water, hormones, chilorophyll

23 The stomatal opening is controlled by guard cells. If the stomatal opening is to
remain open how should the guard cells be ? .
(a) stretched (1) swollen () rigid  (d) shrunk

.501_ Which of the following set-up will give a positive result for staxch test akter
boiling the leat in alcohol ?
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0. The guard cells are also capable of photosynthesis because they have :

(a) cyvtoplasm, nucleus, centrioles
(b) cvtoplasm, nucleus, centrosome
(c) cvtoplasm, nucleus, chromosomes

(d) cvtoplasm, nucleus, chloroplasts

4. The gas released from germinating seeds indicate that the seeds are :
(a) alive and decaving (L) alive and respiring
(c) dead and decaving () alive and decomposing

ij’ In the experimental set-up shown in the figure, water is tound to rise in the
delivery tube because :

Caveniraling ~cods

{al sodium hvdroxide kept in the small test tube absorbs €O,
{L) calcium hvdroxide kept in the small test tube absorbs CO,
(c) chromium hvdroxide kept in the small test tube absorbs CO,
{d) potassium hvdroxide m the small test tube absorbs CO5
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